
23 Fuel Filter and Water Separator

MD2010B, MD2020B, MD2030B, MD2040B

Upd:2012-05-07 17697 7746410-23-273

MD2010B, MD2020B, MD2030B, MD2040B, MS2L-D, MS2A-D, 120S-D, MS2B-R, MS2A-E, MS2L-E



Fuel Filter and Water Separator 23
MD2010B, MD2020B, MD2030B, MD2040B

REF PART NO. QTY DESCRIPTION SEE SEC. NOTES
1 877767 1 Fuel filter

9044
2 1 Fuel filter Repl by 877767

Bulletin 50-11A 50-11A-EN Fuel Filters / Water Separators
3 18817 2 Gasket
4 191397 2 Nipple 5/16''

941438 2 Nipple 3/8''
5 954322 2 Fitting nut 5/16''

954323 2 Fitting nut 3/8''
6 3581078 1 Filter insert (858201)
7 833972 1 Water separator
8 833971 1 Water separator
9 957177 2 Gasket

10 191397 2 Nipple 5/16''
941438 2 Nipple 3/8''

11 954322 2 Fitting nut 5/16''
954323 2 Fitting nut 3/8''

12 957177 2 Gasket
13 861642 2 Nipple
14 3825000 2 Hose nipple
15 961664 2 Hose clamp
16 861057 X Fuel hose 3/8''

Bulletin P-23-4-4 P-23-4-4-EN Fuel Hose P/N 861057

7746410-23-273 17697 Upd:2012-05-07

MD2010B, MD2020B, MD2030B, MD2040B, MS2L-D, MS2A-D, 120S-D, MS2B-R, MS2A-E, MS2L-E


